BN ERER

BHS B135V-PSD15-S04-T01

TG : BHS005T

SALLUrr

M12x1

1) OFsth, wiE
2) BEERSEMNE

Ce Al

B8R 11817
MERR
THFRERR

NS
B

£S5

B, R
R
HEBE, ®R
FRNE
BAMERE
SRR

W

BEMH
ShERR
RE, M

ARG

EN 60068-2-27, #jif

EN 60068-2-6, 1REf
SERREE
WERE
Uit

Internet

®.

LISTED Class 2 Type1

IND. CONT. EQ.
8102

M12x1

FE

6.75 x 1.78 mm
@12 x78 mm
it H

15 Nm =10 %
500 bar

M12x1

PTFE
AEEW (1.4104)

#1F3%, 309, llms

55 Hz, #&MEL1 mm, 3x30 min

3
-25...120 °C
IP68

www.balluff.com

B8

RE, ™MK (UetIESEL)

MEERty, |K
T{FEEEUD
RRAS%
FERME
BARIRERI

MATLIIRRlo, THR

78,0
61,5
18,0
7,0
4.1
N N <
B 1 N S
Q T s
—c17 —<c10

JALTIRRlo, R

BAGHBE, FUeT

F/NTERRIM
R T {FEBEUe DC
BT 1ERiR e
MBERERR

MR AELREBEVI
BER, BS R
MiEERA

HSER
R
&0
BB
BHILHHILE

Subject to change without notice: 278018

15 %

20 ms
10~30 VDC
DC -13

400 Hz

10 pA

8 mA

8 mA

0.5 pF
0mA

24V

200 mA
100 A

75V DC
25V

33.0 kOhm + 2D

=
=

M12x1-223k, 4-%t, A-4RHE5

=
=

&

eCl@ss 9.1: 27-27-01-01
ETIM 6.0: EC002714
BHSO005T_0.24_2021-03-18

1/2



BRI S _
BHS B135V-PSD15-S04-T01
1T BHS005T BA I- L U ™r

ol / BB Wl O
LTEAXIERSa 1.21 mm FFX4 H i PNP & FFiti & (NO)
RAESRE (SrHIB%T) 5.0 %
BEER, &KX (STIESLL) 10 % BREESH
HESCAXIEESr 1.5 mm .
RIS, A% +109% BRI IEC 60947-5-2
RFH, BA (SHIESLL) 150 % I S
BEFXIEESn 1.5mm EAC
WEEE
B At RERLR, REXRRBENEET
El1~5.5V DC

&iE
ZHiiEA614804
le [mA] = 200 - 2.2x(Ta-75), #ETa [°C]H+75~+120095% 4T
U(T) [V] = 1 + 0.03x(T+25)
RL(T)min =5 kOhm,
EHRTEHE, ERSBBEREX.

Connector Drawings

2
oY
4
Wiring Diagrams
| I 411, o T
2 o
==
2/2
Internet www.balluff.com eCl@ss 9.1: 27-27-01-01
Subject to change without notice: 278018 ETIM 6.0: EC002714

BHS005T_0.24_2021-03-18



